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#define N 20
void print(int *p, int size)
{ . .
int i;
for(i=0; i<size; ++1)
cout << p[1] <<
cout << endl;

}

TPNPNY TIND

int a[N]={1,2,3,4,4,3,2, 1};
int *p = a;

int 1=0;

(M1 20) 2 9991 nHNY
: NI MDD NI

NI YOP 52 .27 MITHIND MNKT 910N NP YOP DY 0NN DIOYONND TNN DI

NN N2 19IND DIV ¥ DIDYON

print(p+1, 4);
print(p, 4);

1=2;
a[i+1] = afafi-11];
print(p, 8);

for(i=0, i<7; ++1)
{
*p=*(p+1);
++p;
}
print(a, 8);

N NN Y32 .OMINND DOYOPIA 2191 1PN INDINY
JOPN DDA VYN

N3 YOPN DY DTV 10 (MNP 7) (N

N3N YOPN BPOL OITY NN (MNP 6) (2

NI YOPN OVOI O M (MNP 7).
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(511923 20) 4 9991 NNV
;1IN NN

#include <iostream.h>
classrec{
double sidel, side2;
public:
rec (double a, double b){ sidel=a; side2=b;}
virtual void print(){ cout<<sidel<<”, “<<side2<<endl; }
double a(){ return side1*side2; }
double getl(){ return sidel; }
double getw(){ return side2; }
|5
class sq: public rec{
public:
sq(double a):rec(a,a){}
virtual void print(){ cout<<getl()<<endl; }
|5
void main(){
rec r(3, 5);
sq b(4);
r.print();
cout << “a=*“<<r.a() <<endl;
b.print();
cout << “a=*“<<b.a() <<endl ;

I8P PA0NY MIINN DY vYaN NN (MNP 10) (X
NN TINPIINA ,Main PPN NN PONI ON 0990 P IR (MNP 7) (2
void main() {
rec *pl = new rec(2,3), *p2 = new sq(l);
pl -> print();
p2 -> print();
} |
NN virtual 19PN AN PINKI DX 2 Pyoa VYN PN N (MNP 3) (O
' print NONPION
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VHDL :73 750

(5 - 10 MONY) MINAN MINYA 6 TINN 7203 MOHNY 3 Sy mayh v

- (7123 20) 5 9990 NINY
: INAN NN9INN NN

NY9IN , NN NINNNN ASINY NIIND NN P1THI S v (MNP 10) (X
73 DOWAN DY TAPNY NI . NPNN PDOoNMNM OIRIVPNIT DI DV DIV

library ieee;
use ieee.std logic_1ll6é4.all;
entity tff is
port (clk: in std_logic;
t: in std_logic;
g: out std_logic);
end;

architecture rtl of tff is
signal sig: std_logic:='0';

begin
process (clk)
begin
if clk'event and clk = '1l' then
1f £='1’ then
sig<=not sig:
end if;
end if;
end process;
g<=sig;
end;

library ieee;
use ieee.std_logic_1l1l64.all;
use ieee.std_loéic_arith.all;
use ieee.std_logic_unsigned.all;
entity test5A is

GENERIC (Size: INTEGER:= 3);

port (¢, clk: in std _logic;

g: out std_logic_vector (Size-1 downto 0));

end;

13 0 6 Ny



2008 222N 90729

architecture for_gen of test5A is
COMPONENT ¢tff
port (clk: in std logic; g :out std logic);

end component;

SIGNAL gSig: std _logic_vector (Size-1 DOWNTO 0):= (others=>'0');

SIGNAL tSig: std_logic_vector (Size-1 DOWNTO 0) := (others=>'0');

begin

tSig(0)<=t;
out_loop: FOR i in O to size-1 GENERATE

boxs: tff port map(t=>tSig(i), clk=>clk, g=>gSig(i));
end GENERATE out_loop;

z: FOR i IN 1 TO size-1 GENERATE
tsig(i)<=gsig(i-1) AND NOT tsig(i-1);
END GENERATE 2z;

end;

,D71VY DMI9DN NIDINN YW DIRNIND NITO NX DIVAY ¥ (MNP 10) (2
DN .27 19N 17 NDapn t NOIONY,0 =N NDNNN NOIWNNY NNIND 1N IWND
8 NN DAY W, TOIMNN PN OX .DMNN IR 01 DN B AT

L0 -1 5919) 1aba oMWNAN DYANHN
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o (s 20) 6 999n NYNY

Anput = 710007 : NN DXYON Y22 IWND ,ANIN TN NN
oma div_by 1591 HY DDIN MMNY NN Y DN PNY MRV NN DY v
CPUNRIN NYWN NTND YN 297 I8P DIDIN INMIY NIND ¥ .count -»
library ieee; S
use ieee.STD_LOGIC_1l1l64.all;
use ieee.STD_LOGIC_ ARITH.all;
use ieee.STD_LOGIC_UNSIGNED.all;
entity div is
generic (size: NATURAL:= 4);
port (clk: in BIT; rst: in BIT;
input: in std_logic_vector(size-1 downto 0);
div_by: out std_logic);
end div;
architecture div of div is
signal count: std_logic_vector(size-1 downto 0);
begin
process (rst, clk)

begin
if rst = '1' then
count<= input;
div_by<='1";
elsif clk'event and clk = '1' then
if count = 1 then
count<=input;
div_by<='0";
else '
if count < SHR(input,"01l")-1 then
div_by<='0"';
else
div_by<='1"';
end if;
count<=count-1;
end if;
end if;
end process;

end;
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MY NHIANNI NPV PIXY W NNV IND DOYY MmN My (MNpy 10) (X
: DN NS NX MY BN count -D o div_by Sv 137y D

count div_by
8

—Ed W B U ON 2

NNYN X DY NMIPHNIT NN IWVITINN NNYN DX O)wn (MM 10)
:TININ

if count > conv_integer (input)/2 then

1OMPWY 20 NNYY XTNY YT, 009792 1% NNV TRsYD DIVIY Nomn

985 o)) count -2 ©M2 div_by Hw 159y DY 7Y NNANNA NYTN NYIL XD W
: DY MY NN

count div_by
-8
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“01” :A asn
“10” :B axn

“11” :C asn

dire="1’
dur’1°

[ , dHF=0= hhi(i::::::)
ENTITY test?7 IS

PORT (rst, clk: OUT bit;
din: OUT bit;
otp: IN bit);

END;
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(M1p3 20) 8 999m NHRY

: NI PYNnn M
LIBRARY IEEE;
USE IEEE.STD LOGIC_1164.ALL;
ENTITY cnt IS
PORT (clk, rst: IN STD LOGIC;

vec: IN STD _LOGIC_vector (3 downto 0);

ones: OUT STD_LOGIC_vector (2 downto 0));
END;
“VEC NYyNa DYTNND 9010 NN NI0NY HIIPNS NdY v (MNP 10) (N

LDIMIMON 532 wnnwn ammn .ooyo mIdINaY

D MMNY Y INPND ARNPN NNVPYIIIR POND v ,nyd (MmN 10) (2

.VEC NYTN N0 YN )WY MiNn 552

WO PASY 13D T DO DYIRNND NPN OPYN DOW PYTad NPANNn POy
T2 NP1 N70INN N2 NVWN NN NV PA0NY
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-. : (M3 20) 9 1991 HINVY
= T IDINN ANNNY NININD NN N0 W (M) 10) (N
LIBRARY IEEE; o :
USE TEEE.STD_LOGIC_1164.ALL;
USE IEEE.STD_LOGIC_ARITH.ALL;
USE IEEE.STD_LOGIC_UNSIGNED.ALL;
ENTITY test09A_What IS
PORT (clk, rst, inp: IN STD_LOGIC;
otp: OUT std_logic);

END;

ARCHITECTURE arc OF testO09A_What IS
SIGNAL a, b, c¢: std_logic;
BEGIN
otp<= b WHEN inp='0' ELSE
c;
process (clk, rst)
begin
if rst= '1l' then
a<= 'l'; be= '0';
elsif rising_ edge(clk) then
a<=inp; b<= a; c<=b;
end if;
end process;
end;

SIT IIOINND AISINY TN NN ND v (T 10) (2

LIBRARY IEEE;
USE IEEE.STD_LOGIC_1164.ALL;
USE IEEE.STD_LOGIC_ARITH.ALL;
USE IEEE.STD_LOGIC UNSIGNED.ALL;
ENTITY test09B_What IS

PORT (clk, inpl, inp2: IN STD_LOGIC;

otp: OUT std_logic);

END;
- ARCHITECTURE arc OF test09B_What IS

SIGNAL a, b, c¢: std _logic;
BEGIN

process (clk)

begin

if rising edge(clk) then
a<= 1np2; otp<= b; c<=a;
end if;
end process;
b<= inp2 WHEN inpl= '1l' ELSE
c;

end;
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